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o 36. 7 -3.7 17.7 99. 5 10. 6 68. 4
1 A 16. 1 -3.7 6.2 97. 7 10. 6 56. 9
2 A 18.7 -1.5 7.6 94. 8 11.1 58. 3
3 A 23. 7 3.3 13.0 99. 5 21.9 67.5
4 A 25.6 6.8 16.5 98. 9 19. 1 61. 4
5 A 31.2 9.9 18. 8 99. 5 29,4 1.7
6 A 35. 0 14. 1 22.8 99. 5 37. 6 79.6
7 A 36. 0 20.9 28.0 99. 5 42.9 73.3
8 A 36. 7 23. 2 28. 6 99. 5 42.7 79.9
9 A 34.9 17. 1 26. 8 99. 5 39. 1 77.1
10 A 30. 9 10. 4 19.0 99. 5 24. 6 69. 7
11 A 28. 4 5.7 15. 1 98. 2 18. 1 64. 7
12 A 26. 6 0.5 10.0 99. 5 20. 7 60. 8
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ZED ] 2.7 28.1 193 1468. 0 96 0 186.5 15.3
1 H 2.3 20.4 11 7.5 4 0 2.5 1.9
2 H 2.6 27.0 13 34.0 5 0 22.5 6.8
3 H 2.6 20. 6 18 171.5 12 0 37.0 14. 3
4 H 3.3 21.7 24 121.5 8 0 53.0 15. 2
5 H 3.0 22.0 22 209.5 12 0 61.0 17.5
6 H 2.3 26.5 14 371.0 12 0 186.5 31.0
7 H 3.1 17. 4 22 45. 0 5 0 29.0 9.0
8 H 2.9 16. 3 20 192.0 16 0 68.5 12.0
9 H 2.5 19.9 15 109.5 8 0 40. 0 13.7
10 H 2.5 13.8 11 134.0 7 0 56.5 19.1
11 H 2.6 22.4 12 50.0 3 0 39.5 1.7
12 H 2.6 28.1 11 22.5 4 0 16.5 5.6
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(1) KR & (45 Fn 5 F )
X 4y i\ (C) W E (%)
A Bl W& 5 N | (R A &3] w®om & K | FE Y
£ M 36. 4 -3.5 17.2 99.9 11.0 69. 6
1 A 16. 1 -3.5 5.7 99.9 11.0 58.1
2 A 18.7 -2.1 7.0 97.5 11.5 61.6
3 A 24. 7 3.6 12.6 99.9 22. 4 69. 4
4 A 25.8 6.7 16. 1 99.9 15.1 62.9
5 H 32.2 8.7 18.6 99.9 24.3 72.2
6 A 33.9 14.6 22.6 99.9 27. 4 79.3
7 A 35.8 20. 2 27.8 99.9 33.6 72.7
8 A 36. 4 22.1 28. 1 99.9 43.0 79.8
9 A 34.5 16.1 26.0 99.9 35.2 78.3
10 H 28. 6 9.2 18.1 99.9 22.9 70. 7
11 A 26. 8 5.3 14.2 99.9 19.5 67.3
12 A 24.1 0.3 9.3 99.9 21.1 62.7
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O 2.1 24.9 147 1803.0 111 0 227.0 16. 2
1 A 1.9 19.3 7 15.0 4 0 5.0 3.8
2 A 2.1 23.3 9 61.0 7 0 39.0 8.7
3 A 2.0 17.6 13 197.56 12 0 356.0 16. 5
4 A 2.5 22.2 25 120.0 9 0 48.0 13.3
5 A 2.3 19. 2 16 254.5 13 0 71.0 19.6
6 A 1.7 20.1 11 427.5 12 0 227.0 35.6
7 A 2.5 16.1 12 38.0 8 0 21.0 4.8
8 H 2.1 21.4 15 288.0 16 0 110.0 18.0
9 H 1.9 19.8 10 156.0 10 0 69.0 15.6
10 H 1.8 16.1 5 137.5 9 0 39.0 15.3
11 H 2.1 21.6 14 66. 5 5 0 50.0 13.3
12 H 2.2 24.9 10 41.5 6 0 33.0 6.9
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